
    Matrix 1 (Easy questions)         

 

 

1. Write out the matrix  (cij)35  with  cij = 








otherwisej3i

2or1iifji2
. 

 

 

2. Let  A = 








 140

321
.  Find  AAt  and  AtA . 

 

 

3. Let  M =














 

000

400

320

.  Find  Mn  for  n = 2, 3, 4, ... 

 

 

4. Let  A = 








01

32
.  Find all matrices  B  such that  AB = 

 

 (a) 








11

11
. 

 (b) 








111

111
. 

 (c) 












11

11
. 

 

 

5. For any nn matrices  A  and  B ,  we define a new operation as follows: 

    [ A , B ] = AB  BA . 

 

 Let  C  be another nn matrix, find   

(a) [ [ A , B ] , C ]  

(b) [ [ A , B ] , C ]  +  [ [ B , C ] , A ]  +  [ [ C , A ] , B ] . 
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